=

Al

=
[==]

<L
’

7

- £

A X -

=

B

MEE LiEX

=

Al

=
[==]

L4244
’

7

- 5

AR X -

=

B

100m

~

1:2.500
50

~ T T

0

—

28.0
1.0

i
=(m)

=
=1

e (%)

——

Iz
7060
54

AL R AGET I

~

AR

R
/.

FBE3EA T OE B HIE25, 000 (i i)

V2034, #86175)

H
ERTHEBESND

ERT 5&

oy
EiRey
)
RS 5L

FHE0kN/m LT D X H;

EEYI

EEM
| ABBOKN/MEBZ B K

=M
ADRX1E

2
2

e
R

~

(K

EAImMELT D K

B D
ih

D
»

2=

AL

2]
1mZiE
TER
SYEEYI
HESNDIIDKREEDHZAK(KN/m2)

T3 E
L HDTH D,
£

fEAres

ROOWMERTEHNLER

D

=
K

=

BRRZRDIESHE

WiE
=]
HX

Fit
w3l
TR

x




	D_み060
	D_み060_01

